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On this day:

a) Write the year that he was born in Roman numerals.  MCXXXIII
b) How long ago was this? 888 years
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Continue the sequence:

(L]l

—

Task 4

What is the number represented in

Round each number to the nearest 100 and 1000. "e e k 0 n e
Nearest 100 | Number | Nearest 1000

3600 3592 4000 Complete the missing numbers in the sentences.
10,000 9981 10,000

1000 1025 1000 29,756 =20.000+ 9000 +700+ _50_+ 6

0 49 0

23,000 23,025 23,000 50,384 250000404 300 +_80 4+ _4
67.800 67,841 68,000

600 634 1000

the place value chart?

thouemmds | Thousands | Hundreds |  Tens Ones
000
00 |000|%FP|000| 00
[e)e)
(]
—

Write two multiplication and two division
sentences using the digits 4, 3 and 12.

3x4=12
4x3=12
12:4=3
12:3=4

?

Answer the subtraction questions.

24-13=_11_
4500 - 1000 = 3500

87-25=_62_
965 -200=_765

1340 - 150 = 1190

@ 6545 - 3500 = 3045





image4.png
4

S

2

Continue the sequence:

(L]l

—

Task 4

What is the number represented in

Round each number to the nearest 100 and 1000. "e e k 0 n e
Nearest 100 | Number | Nearest 1000

3600 3592 4000 Complete the missing numbers in the sentences.
10,000 9981 10,000

1000 1025 1000 29,756 =20.000+ 9000 +700+ _50_+ 6

0 49 0

23,000 23,025 23,000 50,384 250000404 300 +_80 4+ _4
67.800 67,841 68,000

600 634 1000

the place value chart?

thouemmds | Thousands | Hundreds |  Tens Ones
000
00 |000|%FP|000| 00
[e)e)
(]
—

Write two multiplication and two division
sentences using the digits 4, 3 and 12.

3x4=12
4x3=12
12:4=3
12:3=4

?

Answer the subtraction questions.

24-13=_11_
4500 - 1000 = 3500

87-25=_62_
965 -200=_765

1340 - 150 = 1190

@ 6545 - 3500 = 3045





image5.png
9.
0.
1.
2.
3.3
4.

© N oW

.9.38-1.67=771

3906 + 8155 =
28_18 |0_I

10710
24627 + 49426 = 74053

2781x 4= 11124
12740 + 5 = 2548
59075 - 4694 = 54385
£ of 780 = 468
25718 - 12909 =
601+ 986 = 1587
167+ 100 = 0.0167

10% of 512=51.2
1245 x 18 =22.410

12061

12809

15.37131 - 9845 = 22286

6.
7.
8.
9.
20.

1296 + 632 = 1928
50% of 362 = 181

3064 x3=9192

6x6x 13=468
96107 - 18312 =77795

21. sof128 48
228+ 8=2-280021
23.9001 +209 = 9210
246664 +7 = 952
25.563x21= 11823
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24 Endings: -ous

1. dangerous, joyous, COUrageous, nervous

2. spontaneous, vigorous, outrageous, serious
3. a) humorous b) glamorous
L.

tamous — well-known, various — different
tremendous — great, enormous — huge
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22 Endings: -sure, -ture and -cher
1. picture, nature, adventure, measure

2. creature, archer, enclosure

3. a) treasure b) pleasure c) furniture

b

Examples: The texture of the fabric was very soft.
The photographer used a long exposure. The preacher
stood at the front of the church.
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Round each number to the nearst 1000.

Number Nearest 1000

952064 952.000
sas1 5000
21002 21,000

351692 352,000
25300 25,000

763564 764000
& o

9 C=

Use Cor to camplete the sentences.

P o §

Continue the sequence:

(o )-CE@S9
[E°-CE-C@?

w5000 ] [swsom ] (rsom
- EzTn RO

‘Complte the place valu chert 1 show the number 456.804. Check i his calclation s corret by

using th inverse operation.

(o) © [oon] || [ s —~ sests e a17-38300
[(evaase | o leoleel88 9 96,364 - 61798+ 34566
@ |0@(0@0(00 o0 - 61798 5 34
@ @ [ @ |00|00 50 they are incorrect.
° oo
2201290 2210520
() @ [zwosm) @
—
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